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B ENTRANCE EXAMINATION 2017 - READING TEST

KEY

Task 1: Which paragraph (1 — 6) do these headings belong to? There is one extra heading which you
do not need to use. Write the number of the paragraph next to the heading. [4 points each = 28 points]

a) How human language works 2 . e) A matter of choice? _ 6 _
b) How language fits the place f) Awvoiding an identity crisis 5 L
c) Cleverer than you imagine 1 . g) A signin common _ 4 _
d) A level of communication 3 .

Task 2: Which sentence in each pair is true, according to the text? Write T next to the correct sentence.
[3 points each = 12 points]

1. a) Humans tend to be more aware of past and future because they live longer. T .

2. a) Humans have lost their information-gathering ability because they have developed
their eyes and ears to a high level. T .

3. b) If dogs do not lose their identity, they will be happy. T .

4. a) The writer seems to be saying to dog owners that they should respect their dog’s

intelligence and its need to be adog. __ T _

Task 3: Read paragraphs I. — V. from the text and circle the word a), b), c), or d) that best keeps the
meaning of the word in bold in the paragraph. [2 points each = 10 points]

I.  Par. 1: aware
b) conscious

Il.  Par. 2: raised

b) brought up

I1l.  Par 3: pattern

d) system
IV. Par5: deny

a) reject

V. Par. 6: desperate

d) hopeless






